AR =

&

kgt

O K ® NG R B -




ERE

*ﬁ‘i%ﬁ

—

Alk

FLEREEA A

4 Fn

T 65 17a

512250085482

1. FARER

BB EREE S UIERES

A= 400

FBAG6GO—553753

BEEAR/RNEAR

4 Fn

T

6g 17g

PIBER AR

Rk 29« Ta

BHHMOW TS5 8

A

Fn

Te Tg 208

2. FTEE - HREER

BT % D R4 X347

H 2R =t

BMEE O EHR

[24840]

fEE DKL UL
: X

® 3k

%ﬁQAibmzﬁMAﬁEM5—126

HOE & D E R

FEROARWDNE

5. BRI

A

%

[318]

kv

TPG—-—FBAG6O

EEME DRI

4P10

ABEOWI g

b
¥

BEERB - FXH 0Bk

BRA

BHEORAR ¥y

[022]

RETR

BAREE

3 A

3000 k¢

EREk 28201

EiREER

5985k

ol 469 cn

169cn

198 cn

Al Al &l &

FUEES S

% s E

— kg

BREWME

— kg

BHER BT R H A K

2.99 ¢

15610 ke

RO | e 10

B HEEE S

FHIX &=

A4‘F%

[E=i] , BERE,

E%E@ﬂﬂ(Nox
« PMEEHIRAN TS,

[RAFERI] fe e B
[T E] FEEHL

(BRI - ﬁ%]17413
ETF4&A

TR
[29@&%%]?&29$7E21E oips koo 50%@&#%

B
MR 2 TEERBEYES %m EERE
PM)ﬁmg_ﬁﬁﬁﬁwﬁﬁDK%MNO

E%ﬁﬁ%ﬁ%rﬁ]118 000km (fFI6ET7H4RH)

[E%ﬁ%%%ﬁfﬁ]loe
R 1 RTINS, TEHESBETEME 98dB

[(BEIHE=a—F] 51—07868

3020

[ﬁﬁﬁwﬁﬁﬁﬁ%mgﬁ]Eﬁ%ﬁﬁﬁﬁﬁﬁ%b

800km(Aﬁ5$75115)§

[(EEHE]

REFHITIV AT LRERROERE 2D ET

BEEID

T9468HX9179057

e

G

e h




e

AT/~

ALEAE

e 1E -

A
=]
PMTTZ | FH
E<]
2

2

70L

HEES | B | WEERRK BK-ERERES EEBK F—hyav ik
250512 | =% |[|H 29/7| TPG - FBA60-553753 T
RIS/ EREVHR TR BEE - ﬁ?vﬁif(mmH) HEsit( ZH 8)
ZHE gn| 126,000 km| 3,000 = e A
SR R7.7.20 P ey %&@ ke 3.050 1,600 370 ALkt
TIVUUREE A B C AC FER & 7% V |EAH 150  ps|TM 5  5E| 3 =&
2yiar -T2 (BEHER) FoJ@Y  (UHAILE 8,830 H
JL— LB R (§. EAESE) Rk
EA—h—RER DX RRES I B
FrIBYUXZHY ., RT1—/1—%Y $—FB R, ERES. it
RDLAIZHY (FRER) t [[SAMT 2 7 s 4T
| FASR B{Ymm. X. Ciohi
EXH BRI BN~ B ) ¥—h-
B¥X o
BHRE "7 B 9 9

4o 205/T5R16

R 905/75R16
$AR
84 AT

TAC M 8 ‘




